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� S. cerevisiae TISTR 5049 �� !"#�$%�&��!' (27+1 
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-�@ !-0���6-���6���-7�&8-
&6�
9!'-3@�! A. aceti TISTR 102, A. aceti TISTR 103, 
A. aceti TISTR 522 5�4 A. aceti TISTR 1074 2
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��� ��0�&��#-!��
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5�4��!��4 8 B6�:� 2
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��� ��0�&��#-!��
!���!��4 6 B6�:� -3@�! A. aceti �	�' 4 
���B	
C"������=-7�&8-
&6�
;���� -�@ !�&�
�"��4�4-��������	���  48 3	 ���' -3@�! A. aceti 

TISTR102 5�4 TISTR103 ��0�&��#-.����� ��3��&
;�:5
�
:�'�	
!�:�'��
	����D	8��'�=&
& (p>0.05) 
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��	� 48 3	 ���' �%'��:����-����'���� A. aceti TISTR522 5�4 A. aceti TISTR1074 2
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!���!��4 8 -3@�! A. aceti �	�' 4 ���B	
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��� ��0�&��#-!��
!� ��!��4 8 2
���-7�&8-
&6�
5�4���<�&
���     
!4.&
&�9!'-3@�! A. aceti �	�' 4 ���B	
C"� ���-3@�! A. aceti TISTR 102 �����-7�&8-
&6�
 0�&��#-.���
�� ��3��&
 5�4���<�&
���!4.&
&��� �%'�� �"�2
;�
�
���
���
��� ��0�&��#-!��
!���!��4 6  

-�@ !
��-3@�! A. aceti TISTR 102 ,H�I��$��4�� -���4��
:!���-7�&8-
&6�
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� B6�:� -3@�! A. aceti TISTR 102 -7�&8-
&6�
;���%'�� �"�2

���
���

��� �����-
&�
0�&��#��%�D���!��4 5 (w/v) -01
5��:'D���6!
 ���
���	� 0�&��#��!��4 0.4 (w/v) -01
5��:'
;
�
�-7
 0�	6D:�B�-!3-�& �
�
 6.0 5�42��!	
�����2��!���,������-9�:��� D���-�G� 180 �!6
:!

��� -�@ !-����'-3@�! A. aceti TISTR 102 2
�$��4�����	��� -���4�� B6�:� �����-7�&8-
&6�
566
���D%# (exponential phase) 7
=H'�	
��  4 �:!
�� 74�����-7�&8-
&6�
-�& �-9���4�4D'��   

82 



83 
 

 

������5��'-3@�! A. aceti TISTR 102 �� D�����!
!"#�$%�& 35 !',�-.�-.��� ���23�
5�

&�!�D���-9��9�
��!��4 20 (w/v) -01
���-D�@!6-.������2��-3@�! A. aceti TISTR 102 �����
�!�3��&
�� �%'�� �"� 5�4���<�&
����-3@�!566<'���23�����4-!���-01
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� 4 �&��&�&
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<'�� 6��7"2
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���X!������&-

 0Y�<
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-��� 1 -�@!
 74���2��������!�3��&
5�40�4�&�C&$�B�����	�
���������3%;�� 
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